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i il TR29% 68 1BJ#
Hh g e 5B x| 85t Hh 35 HEK 5 x| &t
LtEF—TH 792 795 815| 1,610 [FE=TH 1,306| 1,623] 1,624] 3,247
tEFZ-TH 793  893[ 890| 1,783| [hEWTH 776] 836 950| 1,786
TE—TH 1,766] 1,528 1,811] 3,339 |[+EHETH 956 1,096| 1,134| 2,230
TEI=TH 1,520] 1,449| 1,569] 3,018 |FEATH 836| 814| 815| 1,629
PEF—TH 795 946 965| 1,911 |B¥E—TH 1,160] 1,183[ 1,265] 2,448
PEF_TH 512| 583| 600| 1,183| [BptE=TH 755| 648  810| 1,458
FEF=TH 627 806| 841]| 1,647 |BE=TH 416]  464] 482] 946
PEFMETHE 749]  774]  891) 1,665| |BpEETH 526 628 651 1,279
PEFRTH 997 1,121[ 1,222 2, 343| |BEETH 1,035 969| 1,079] 2,048
TEF—TH 822 088[ 1,036 2,024| (ALL—TH 1,919] 1,637( 1,815] 3,452
TEF=-TH 306| 391|393 784| [ML=TH 1,470[ 1,303| 1,315[ 2,618
TEF=TH 137|  144] 130] 274| |MIL=TH 867 790|  893| 1,683
TEFWTH 227 291 302| 593| [MME—TH 1,749] 1,720] 2,073 3,793
TEFRETH 247] 315 335 650| [MEZ=TH 1,596| 1,597| 1,852| 3,449
TE—TH 980 921 846| 1,767| (ME=TH 1,527 1,639 1,725] 3,364
TE-TH 500 674| 676| 1,350| [#IsE—TH 37 32 33 65
TE=TH 191| 256 256| 512| |#E=TH 522| 439| 519] 958
BENAE—TH 440] 553 555| 1,108 |#BE=TH 1,166[ 1,158 1,226] 2,384
BAE=TH | 1,400) 1,136] 1,269 2, 405| [FE#m&st |35, 023(36, 101]38, 655[74, 756
BAE=TH 224| 344 345 689
EAEMRTH 26 40 32 12
EBAERTH 575 513 511] 1,024
BAENRTH 223 326 319 645
hE—-TH 865 932 966] 1,898
hE=-TH 690 806 819] 1,625 HwEEt 35, 023[36, 101]38, 655]74, 156




